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Question 16- A bag contains 4 red, 3 blue balls. 3 balls are drawn at
random. What 1s the probability that 2 are of same color and 1 of different

e

color.

57 16- Th ST H 4 AT, 3 el 7 8| 3 el bl Agioseh 9 § ST SiTaT
T ITRIRdT & Toh 2 TH TTh © 3T 1 STHT-3ToTT T T 27

A. 5/7
B. 4/7
e 6/7
D. 2/7
E. None of these
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Out of 13,000 students from a college 21% of the total numbers of
students have opted only Physics. 12% of the total number of students
have opted only English, 15% of the total number of students have
opted only Politics. 7% of the total numbers of students have opted only
Philosophy and 10% of the total numbers of students have opted only
Hindi. 8% of the total numbers of students have opted both Physics as
well as Philosophy. 4% of the total numbers of students have opted
Hindi as well as Politics and 11% of the total numbers of students have
opted English as well as Politics. 9% of the total Number of students
have opted Physics and English and 3% of the total number of students
have opted Hindi and Philosophy.
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Teh ShictsT g 13,000 DT H 8 Hed ST shl SGATH © 21% F sharet Hifcieh! oAl
ferehed =T ! Sl GEATH H 12% i shared SUSH 1 {ofehicd =1 8, BT I

el G o6 15%  ohelcd TSHITA shl forehed =T 21 B ol el HGATH € 7% 7
FAT SRIITE T forshed =T & SR ST ol et ST H H 10%  haet fal
ferehicd T 81 ST 3ht bt S&ATH © 8% 1 Hifciehl oh HT-HTY SIS ST I
<19 ToRAT 2| BT hT el HAT H 4%  Teial o HT-8Te TSI shl THT @ 3
BT ohl et G&ATH H 11% 1 ST o -1 TSI bl At <7 81 B ! e
T T H 9%  Hifcrehl 3 TS AT = ToRaT § S BTAT Al et ST 3% A
Tt 3T SxiTe =t = fomam R
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Question 1- What 1s the respective ratio of the number of students opted

~ Philosophy to number of students opted only Physics?
T |- SRIRITH Shl <A STcd BTN shl SEAT FA sheled Hidsh! T Ted ST bl
AT T HsifRrd AT T 22

Rav[io = 87 AT 6:7

R {0 C. 78
D. &8:9

E. None of these
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Question 2- Students opted in Hindi are approximately, what per cent of

the total number of students opted in Politics?

N 0O

T 2- TEt H <[ 7T ST shl €A1 TSI H = T BT shl 3T AT T T
(@ o
fehaT gfaerd 22

/ —Xlog A. 67%
_ lSF@ | CB-57%
e NN 30 C. 45%

< ¥ D. 53%

— E. 60%
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Question 3- How many students have opted only Politics?
7 3- Toha BT shaet TSI T forshed <7 82

Yo of gt =[5 of I500 0

i /HQ_O A. 1900
— .

B. 1800

30 27 1950

D. 1850

E. None of these
https://t.me/mathbytarunsirmepl
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Question 4- What 1s the total number of students opted English?

T 4- SIS T ATCT ST hl A HEAT TehaT &2

o 9 Badord = 3R of 13000

= Higo
—
A. 1080
B. 2280
30 C. 4060
“B 4160

https://t.me/mathbytarunsirmepl E. None of thes
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Question 5- Lowest number of students have opted in which

subject?
TS 5- G99 ohH B - Tore fawa § =3+ forar 22

A Hindi
B. English
C. Philosophy
D. Politics
E. None of these
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Question 6- Find the wrong number 1n the given series.

T4 6- 3T T3 JET H TTeld S AT J1d shieg]

60, 80, 119,, 180.210

! B. 60
O+0=130 C. 110
P 140

30 E. 210
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Question 8- Find the wrong number 1n the given series.

T4 8- 3T T3 JEe H TTeld ST J1d shiteg]
60, 80, 50, 70, 40§50
L)

—1 )

Ro 30 12 - A 50
0 73¢ 40 B. 70

& C. 80

— D. 40

30 E. 60
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Question 9- Find the wrong number 1n the given series.

T4 9- 3T 1T JEeT H TTeld S AT J1d shitg]

4,9, 19, 39(80) 159

RH R+ A9
B. 19

[9R¢[=39 C. 39
:go E. 159
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Question 10- Find the wrong number 1n the given series.

57 10- 31 715 ST H TTeTd §&AT J1d hifey)
2,6,21,110, 777, 8588

MI+9=¢ | loyI+1=T71 A6
B. 21

OX343=Q | TTIXI1+ | o gsss

MW= 1o D. 777
30 E. 2
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Question 11- The marked price and selling price of table are n ratio 6:5
and there cost price and marked price are in ratio 2:3. Find the profit

percentage.

qTTeTeRT ohT JAfehd Tod 3N TIshT 5 & AT 31U 6:5 © 3T shT Jod 3N
+ O\ i <.\(\ \Df\(\ N\ *
3 fohel e T ST 2:3 8] AT TF1d J1d shitori|

A. 20%

B 25%

C. 30%

30 D. 24%
E. None of these
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Question 12- The sum of age of P and Q 1s 60 year. 12 years hence the
ratio of there age will be 4:3. Find the difference between the present age

of P and Q.
T 12- P 3T Q hl AT T ANT 60 TN =1 12 N 1S ITeh! ST AT U 4:3

)
~

BT P 3R Q hl SIHT 371 o STl ol Jc T shifsl

AT 12 years
B. 36 years
30 C. 6 years
D. & years
E. None of these
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O = x | 2x= 248<
&: 60_1_ &: %’: 56
X+(3 i g
v =L P= 36—
60~D(+|Q 3
§= 60-3¢| D =R
$X+36= x4 RxY =9y J =
?«It Q&zﬂxjg
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Question 12- A boat takes 9 hours to cover a distance of 378 km 1n
upstream. If the speed of boat 1s 14.28% of the upstream speed. Then
what will be the downstream speed of boat. I

T 12- @WW%H&WWSW%H’TM T H 9 H T GHI oIdT 2
Ffe e %lﬁw%uﬁwﬁﬁ 14.28% & qr T ) SIITE Tl <FT

ELK 50 km/hr

Ho LD A.
B. 44 km/hr
30 C. 34 km/hr
D. 60 km/hr

E.

N f th
https://t.me/mathbytarunsirmepl one ot these
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Question 13- A person saves 48% of his income. He used 50% of his
saving 1n fix deposit. If he used Rs(14400 in fix deposit. Find his total

Income.

T 13- Weh STk ITYT T hT 48% STAT 21 3721 AT 5I<Id T 50%
fhaee TeuiisTe § 3&auTd foram| 3R 38 fharee TeuifSte 1 14400 T3 7

SEAHTC TohT| JEehT et IR T i 151

_A— Rs 60,000
B. Rs 45,000

C. Rs 75,000
D. Rs 40,000
E

None of these
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D —Jmﬁw—?j 4= % 400
[= <600
5@/% 11& IMiomy = 600X lo
= ¥60, 00,
E- D 5@/8[% / —
=9y ‘
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Question 14- What will come in place of question mark.
T 14- 9% & oh T 9L AT T2

16% of 500 + 48% of 400 = 8 X?
500 kT 16% + 400 pT 48% = 8x?
10 |

A= B0 +]99

A. 24
J ?— 5 Question 14- What will come in place of question mark B 1 4
4 14- 741 o % v o s .
—— 16% of 500 + 48% of 400 = §X?
500 T 16% + 400 3T 48% = 8x7 Q 34
L]
D. 44
E. None of these

https://t.me/mathbytarunsirmepl



| @ SBICLERK 2023@

Question 15- What will come in place of question mark.
T 15- 9% & oh T 9L AT T2

160 of 16 =— 20 0of4=17?-10
16hT 160 -4 HRT120="7-10

q 4
LLQOX/'@ - X—=1|0o
sy -
J=1p (30 e 42
D. 28
E. None of these
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Question 17- From a pack of card 2 cards are drawn at random. Find the

probability of getting red card.
57 17- TS o Teh Ueh H 2 T ATGIeseh &Y H dI {ohT SITd & T TS ITH

T hl ITRIeRdT JTd iU
— JbXR5
Y %
Riwdy PE)= ¢ 525 |
Rfd‘-% 5 2 A. 25/101
¢ = V5
B L TCZ B. 25/102
“Qgﬁf 30) = C. 23/102
— > D. 35/102
XS]
E. None of these
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